Full Score

Loveliest of Trees
Poem by A.E. Housman

Harmonics should be played on the pitch indicated.
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Love-li - est of trees, the cher-ry now Is hung with
2 |
[ fan i . - P f P o
SV | | Al | Al
[Y) ' I -
Q 1
*“)— y 2 7 3 < ) — ®
7% & & . —y be—
11
= —— — T~ L
[ fan) ] ~ o . | o |
! >4 )) d -‘|- '| L=
bloom a - long the bough, And stands a - bout the wood-land ride Wear-ing
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white for Eas - ter - tide. Now, of my  three-score years and ten
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Twen-ty will  not come a - gain, And take from seven -ty springs a score,
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It on -ly leaves me fif - ty more. And since to
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look at things in bloom fif - ty springs are lit - tle room, A -
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bout the wood-lands I will go To see the__ cher - ry hung with
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SNOW. There should be no ritard at the end.
There should be a slight lengthening on
_9 the word, "hung" in m.30.
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